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Example 4.6.1 Suppose W = max(X,Y), where X and Y are independent, continuous-type
random variables. Express fi in terms of fy and fy. (Note: This example complements the
analysis of the minimum of two random variables, discussed in Section 3.9 in connection with
failure rate functions.)

Example 4.6.2 Suppose X and Y are jointly continuous-type random variables. Let R = v X2 4+ Y2,
so R is the distance of the random point (X,Y’) from the origin. Express fr in terms of fx y.

Example 4.6.3 Buffon’s needle problem Suppose a needle of unit length is thrown at random

onto a large grid of lines with unit spacing. Find the probability the needle, after it comes to rest,
intersects a grid line.



